©

B v = 25 =15 7 Lig

-9 P 3n*in 1SN+ 5
Wwo—25 G +5(3n+
Bnx20 = _(EGnaXna s Bar(nss5)
gt (ve+5)Cn-35)

n=§= {_S) "1)5}

AN120 = AnA)

(?ﬂur?—o)(n—sv = (\'\—q NELTTD)

A2n* - 1505y 2Wn — 10 = 2B 3+n-12n -‘-(

2rC 4+ S - (00 = 3™ -\ -4

5N —-100 = —i\n -4
o —to0 = -4
on = qb
NG
o S P Fr oo =-My g2
25 =By 1 x+) L i S A
(2443 2x-3) = 4 2}4(\/\‘&—1) C10TH)
(rr )24 3) W ) () (2% -F)

X = {"‘) ?/2} (ot Ww\ﬂ\

3

j(Zx-}'JYZX'-Ql *® Szﬁ_i_\\
(e \(2e-3) 4

—

_( S 8 N Tl ke
O Y244

Zx —F




(2x-5YBx-8) y _x*isx

Ax*-25 3% 15
(2x-5Y2%x-5) R «(ox£5)
G +8)3x-3) B%+S
_2%-5 4 _bx*4+5x
2%X4S BxxS
(oxq'-}?x "5 - — (oxz'*qx-s =2 Mxn = — 306 o3
Sx+5 arn = 4
\ x® -2x +IOx—5
— x Bx(2x=1) +s(2%-))
(avc ¥5) (2% (2% +5)
2%~
—L—l.ﬁ:ls e Sull . 2 x4 _———> mxn = —\0 5.
xX44 Ix* -3x —5 ™ e R =
2%%42n -5%-5
__@-% ‘\'53(2%-5_) % (X‘\'q )CX"" ) 'Zx()g-::) “SE‘X-HJ
XA 4 <')<.+\ Y @ 5 (x+0)(2x-9)

{ 2o el Pue Y mp g Ysene)
(x +4) (X+ ‘I 2%~ S)

,2’&#5



® =44 *x*7
— ey C
Q(-»’-P)Gcéb) ~-7

x44 i 3 x+2
(x+ 2 x~9) -+ X"f“7'>
— +Y y Bk +2\
(x+0)&3) (w2 Yx-3)

Hx 425

(rxrYx-3)
XA — _X*a4dx ¥3
*x* -9
Yaz —[(x 43 x 0]
(x42)(x-3)
rKE+2Z - Y4
x-3
xX-2 X+2 - ¥+
%-3) | ~%-3
KE =g — ()
b g X~ 3
CNE 2% =5

- =

,x‘?.

— 49



e 3 Ac(eo.cz.azi-onvéﬁ = @-X*SXX) = 2Zx*x5x
Avea SquoNs = Q{A-*O)z = x*3 zox $160

Zx* 2+ %% = %% 120% 3+ 10d
¥* -\9v% —100 =O
C1—2c>lx+5)=0

A =20 = O wES=0
X =720, Re=-5 -
Re fec
45 &
= i \ D
20
N\_/_\
1) _1-5 = l - L
T o — 12 nZy4n-12 =
S = \ —_ - NFEL-L,2}
6\ » o)) (N6 Yn-2)
A S .
Sema dengemina O
n-5_ — _| T )
(n+eY?)  (raeYin-2) =
= = =1
3
(n+)Hln -2
N- = =\
nz +"\n -12 =
-1 = —nF -4 a2
N* y Fn —-20=0
(n s10Xn-3)=0

1020 @A N-3=0

n= %;\O} 5}



| = e =

£ A2z -18n -F2
YL‘L‘PQ‘}\ +ZO
4

* :qk +20

n4s
Soone denoywnadar
I L 21 -5n-12 = \

N“+- A+ 20 Y+ ny S
NS SHER - (n~ 88(“"'3) = )
(h ¥ 5)(nra) (s sY nrd) Nn+s

1 % Be (S eFr. = A4

(e sy o+ a) S
___ay\"’ —1SWw -:I'\ = j—
@\4— sV ut) (n+3)

Bt cSm-d . 4 (r\i—'—l)

—

(na5)Casyy s \OFT
B T T P L
(nesYnad) (s Yonwd)

i 5\('\7'- ‘SV\- 3 s (\-&—q
3n* —low -5 =0
mxn = — 225

wan = —i(,

NnNy3=0

P D i:ay,z..a‘é_ 4

N* +4a0 -8 - FS = O
2n(ns 35 28 (nx2) =0
(s2)(Zn-28) ~ 0
n-25=0

3('\"' on ‘2‘4}
3(n-sXn+3)

o 0OF 5-5;"’“}

evoss nm-Q y

d\j wowld \WE
X 3(6 A& .6\\/,
o, ('\shd) malke’ conman
de novninadors

Saxve denoyw inadors
. samu Numeyaters

= 3n=275

n=25



=3 204 - rirn-2

n* *- Sn? n3 - 3n>
F - o) - (aa2) (n=1) 5 OF %.0)8}
n* w (h-%) w (n-8)
F_ = Znsd — (n*r0-2)
n? n* (n-8)
F v ey il < wonks an ton | — (XSS Py
v 1> (vo-2) ‘°§":“‘§€§ Zﬁ% o -.:i%gm
<Q:g I = —nrsn +\b
£ it n* (n-%)
In-5 = —n* +n +lb
n*(n-3) * (h-%)
Tn-8l = —n” +0 &+l

n* +on-F2=0

(s Yo - )=s
ax2=0 eA A~b=0

12) . x-C = aly 128 - %4%
~x. x X242+
X=e = 1( 4 - X48_ raoke caratnan. Mﬂuﬂm
X X XC\,Q&Z)
(\g«; -c,): (20x8Y %12\ — ae 5 K*F -2,08
A2 x % KX*’* x (x+2)
X2 -y =12 = 2 +F0%r B~ (x4§)
(xv2 X% ¥ Cx+2) *(xr2)
¢ _dy-12 = 2 +dfx +4%
* &) *(r2)

¥ - -12 = 2 dfe R
0= 20% 1+ 3% + O



12)

XY= —FA = \/_ii’—‘z’(lo)(bo) 5 = -—?51\/5qu

= - :,_3: 23
4o
X = ~F3-23
o
')(‘ = —E?’b__ . >
[276) S

xX= 3 m2d L’Ls}

! = 1 —_— %2 218

Sl a8 (B0 Bt yam

= = _1 = (g‘- S)(x¥3)

B(x*-1x +2) 2 (x-2) (T WD)

1 = \ — (%= 5)(x«3)
36«—“\)&— 3(%-3) (Y x-3)
_ﬁ:ix > ~ (¢~ sY¥43)
3(x- ‘{)(X ) ( 3(x-3) 3 (x-d ) 2)
o (g% Do ~15Y
3&-%)&-3) 36«-4)&*33 3(x-<Yx-3)
4 = —%* x3% 1\
3(x-d)(x-3) 3k -4 Yx-3)
s 1 » - %2 +3x &\l

YE: - Py o0 = O
(x-85)x+2D= ©
X=6=0 or X+ 2 =0
i —2, 5}-

40
= "B
o {317



2% xX—6 & Xz—'(eé"q' = A

P-4y A e Le
v=S IR S ) | - O o '7(,=(=§.0,Z}
2x Cx-?,) 25 (< -2) X(‘k"f)
Y‘Q—

- Sx —\2 - \ <_2;3

2x (x -2) % (-2)\(Z

P == Bap o} = L,

X*—95x -4 = O

CX—?)C\Q o P el
X=F=0O e~ XK +2l=0O

'X.'-‘—{ = 7—},
28. __n°-25 + NPrion+le = _ L
W -l +28 Wil + 28 n-%
n>-—2s ¥ NEHOR ¢k - h ., N* i_h}l q.}
(re- #)(n-4) -B)n-4) (- H
20 yion.—9 = 3 CxoSs m&%
b E B DA -3

n-3)( 2 4+ 100 '°l) = (Yk—’-l—[n—‘f\
Dide et side by (0-3)
mgbeasd o) naltiplgag =

wenld %\ o 2 AL%M.L

(n e s Y2n2 410 h,—cl> =(n, =
)

-~

(%) “im-
260% 410 -9 = n-Y
n* s Qu—-S=0o ="10 2
n I e

Iy* -1+ lon-5=o

n (Zn—\) +5(20-)=0
@n—\)(n-rs) = 0

Zn-1=0 en N¥$=0 e

20 = = _i—s,’/z}

= /2




62) 4 4+ Fn*-65n-F = n-"F
n M2 %n Jr
Sorrae dansaiao oY
Sn? -5 -F = n-% — o (A% 2 %_7_*0}
4 (na2) b i
‘(n~})(%n+t) = % T =551  axne"S%
S ™M= ~gg
%Cvu—z) e Sn*-Sen+n-3
eNBSS

Fo (n—?—) 4\ Cn-’-l—)
LS (R T e I
(’YL—?)(CSYL-H ) = a(arYn-8)
B2 -850 -F = 4 —n-1b)
La* —SSn -%F = %\7’"2}“7\. -4
> - 3l + 6F = O e s 223 N 12—\
“n* - 12n —\9n + ST =0
Un(n-2) 132 (n-2)=0
(n—b)(%—\O\) =0 7 |
A2 =0 of Hn-19=0 =% Hm
(49

= s :-r(



